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No B REH HA¥lniESE 3 L-134 + 9 L-137 EEE

Bqg. kg Bqg. kg Ba kg
1 B R6.7.2 =S| BmRHEHE9(<9.4) BmREE9(<7.1) :fanhcac
2 H#™ R6.7.2 =S| BmHEHE9(<6.9) BmHEtH9(<6.5) BmEEd
3 Bt R6.7.2 = BmHEHE9(<6.5) BmRHEHE9(<6.9) BRHET
4 Bt R6.7.2 =S BmRHEE9(<8.4) BREHET(L1.]) BRHET
5 kS R6.7.2 =S| BREEI(<11) BRHEE9(<9.0) ;- darkcac
6 =ESn R6.7.2 =S| BRHE9(<9.1) BRHEI(L1.7) BmHET
7 Bt R6.7.2 =S| BRHET(<L7.5) BRHET(<L7.9) BRHEET
8 Hf™ R6.7.2 =S| BRHET(<9.1) BmREHE9(<7.3) - Janpcac
9 B R6.7.2 =S| mHEHE9(<8.9) BREE9(<7.2) - Janpcac
10 HfH R6.7.2 =S| BmRHEHE9(<9.8) BmRHEE9(<75) BmEEd
11 Bt R6.7.2 = BREHE9(<9.7) BREE9(<7.1) BRHET
12 =ESn R6.7.2 =S| BRHEET(<72) BRHEET(<7.9) ;- darkcac
13 XEH R6.7.2 =S| BRHE9(<8.6) BRHE9(<8.3) BmHEd
14 EZATH R6.7.2 =S| BRHE9(<L7.8) BRHET(L7.1) BRHET
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